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QUESTION 1

Given:

public class DNASynth {
int aCount;
int tCount;
int cCount;
int gCount;

volid setACount (int cCount) {
cCount = cCount;

}
void setTCount () {
this.tCount = tCount;

int setCCount () {
return cCount;

int setGCount (1nt g){
gCount = g;
return gCount;

}
void setAllCounts(int x){

aCount = tCount = this.cCount = setGCount (x):

Which two methods modify field values? (Choose two.)
A. setAllCounts

B. setACount

C. setGCount

D. setCCount

E. setTCount

Correct Answer: BE

QUESTION 2

Given:
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public class DNASynth |
int aCount;
int tCount;
int cCount;
int gCount;

int getACount (int aCount) {
return aCount;

)
int getTCount (int tCount){
return this.tCount;
}
int getCCount(){
return getTotalCount() - this.aCount - getTCount(0) - gCount;
}
int getGCount () {
return getGCount () ;

int getTotalcCount () {
return aCount + getTCount(0) + this.cCount + this.gCount;

Which two methods facilitate valid ways to read instance fields? (Choose two.)
A. getTCount

B. getACount

C. getTotalCount

D. getCCount

E. getGCount

Correct Answer: CD

QUESTION 3

Given:

package a;

public abstract class Animal {
protected abstract void walk():;

}

package b;

public abstract class Human extends Animal {
// line 1
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Which two lines inserted in line 1 will allow this code to compile? (Choose two.)
A. protected void walk(){}

B. void walk(){}

C. abstract void walk();

D. private void walk(){}

E. public abstract void walk();

Correct Answer: AB

QUESTION 4

Given:
public interface ExampleInterface{ }

Which two statements are valid to be written in this interface? (Choose two.)
A. public abstract void methodB();

B. final void methodG(){ System.out.printin("G"); }

C. private abstract void methodC();

D. public String methodD();

E. public int x;

F. final void methodE();

G. public void methodF(){ System.out.printin("F"); }

Correct Answer: BG

QUESTION 5

Given:
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public interface Builder {
public A build(String str):;

and

public class BuilderImpl implements Builder |{
@Override
public B build(String str) {
return new B(str):

Assuming that this code compiles correctly, which three statements are true? (Choose three.)
A. B cannot be abstract.

B. B is a subtype of A.

C. A cannot be abstract.

D. A cannot be final.

E. B cannot be final.

F. A'is a subtype of B.

Correct Answer: ADF
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